Ch. 9 Test Review Name:

You should be able to do this first part without using a calculator.
1. Pythagorean Theorem:
a) What is the Pythagorean Theorem?

b) The Pythagorean Theorem is used with triangles.

c) What part of the triangle does the c represent in the Pythagorean Theorem?

d) What part of the triangle do the “a” and “b” represent in the Pythagorean
Theorem?

2. A Pythagorean triple is when g, b, and c satisfy the equation

and are

e Give an example of a Pythagorean triple.
e Give a non-example of a Pythagorean triple.

3. Find the value of x using the Pythagorean Theorem.

15

4. a) Verify that the segment lengths of 3, 4, and 6 form a triangle.

b) Is this triangle acute, right, or obtuse? Show your work.

5. Draw the reference triangle and set up the chart for a 45-45-90 triangle below.



6. Find the value of x for these 45-45-90 triangles. Refer to the reference triangle.
a b
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7. Draw the reference triangle and set up the chart for the 30-60-90 triangle below.

8. Find the value of x and y for these 30-60-90 triangles. Refer to the reference

triangle.
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9. a) What is the formula for finding the arithmetic mean for a and b?

b) What is the formula for finding the geometric mean for a and b?

10. Refer to the triangle to the right.
A

a) The geometric altitude theorem says that

AC? =
C

b) The geometric leg theorem says that
and AD? =

AB? =




11. Refer to the triangle in problem 10. If DC= 81 and CB= 49, find the value of AC,
AB, and AD using the geometric altitude and geometric leg theorems.

AC=
A
AB =
D C B
AD =
12. Use the triangle at the right. A
Write your answers in simplest radical form.
sinA = sinC= 2 V3
Cos A= cosC= B C
1
tan A = tan C =
sin A

13. Law of sines: = =
a

You may use a calculator on the rest of the problems.
Solve the triangles using the inverse of trigonometric functions or the law of sines.
14. 15.

109

16. Find the area of the triangles in problems 14 and 15.



17. Find the value of x and y. Round your answer to the nearest tenth.
X =

7 y=

18. Aladder is leaning against the side of a house so that the distance on the
ground between the base of the ladder and the house is 7 feet. If the height of the
ladder is 15 feet, then what is the angle at which the ladder is leaning? At what
height does the ladder reach the house? Draw a picture, round to the nearest tenth,

and label your answer.

19. A pilot needs to begin his descent when his plane is 7.5 km above ground and
200 km from his plane to the airport. At what angle should his descent be so that he
can fly in a straight line from the point of initial descent to the ground? How much
ground will he pass from the point of initial descent until he touches down at the

airport?



